
ŝǀ

$%675$.

/DPSX�PHUXSDNDQ� VXDWX� NHKDUXVDQ� \DQJ� KDUXV� GLJXQDNDQ� SDGD�]DPDQ� VHNDUDQJ�
LQL��NDUHQD� ODPSX�PHUXSDNDQ�DODW�\DQJ�GDSDW�PHQHUDQJL�XPDW�PDQXVLD�GL�PDODP�KDUL�
GDQ� GL� UXDQJDQ� \DQJ� JHODS� GDQ� KDPSHU� GLVHWLDS� WHPSDW� SDVWL� NLWD� PHQHPXNDQQ\D��
1DPXQ�� VHLULQJ�GHQJDQ�SHUNHPEDQJDQ� WHNQRORJL�\DQJ� VHPDNLQ�SHVDW�� VHNDUDQJ� ODPSX�
WLGDN� KDQ\D� EHUIXQJVL� VHEDJDL� DODW� SHQHUDQJ� WDSL� GDSDW� EHUIXQJVL� VHEDJDL� PHGLD�
NRPXQLNDVL�QLUNDEHO��

/LJKW�)LGHOLW\� DWDX� \DQJ� ELDVD� GLVLQJNDW� GHQJDQ� /L�)L� PHUXSDNDQ� VDODK� VDWX�
WHNQRORJL�NRPXQLNDVL�QLUNDEHO�\DQJ�GDSDW�PHQJLULPNDQ�LQIRUPDVL�PHODOXL�FDKD\D��/L�)L�
PHQJJXQDNDQ� SULQVLS� \DQJ� VDPD� GHQJDQ� :L�)L� \DQJ� PHQJLULPNDQ� LQIRUPDVLQ\D�
PHQJJXQDNDQ� 5)� QDPXQ�� /L�)L� PHQJJXQDNDQ� FDKD\D� XQWXN� GDSDW� PHQJLULPNDQ�
LQIRUPDVLQ\D��6XPEHU�FDKD\D�\DQJ�GLJXQDNDQ�EHUDVDO� GDUL�SDQFDUDQ� ODPSX�/('�\DQJ�
DGD�GLVLVL�SHQJLULP��XQWXN�GDSDW�PHQHULPD�LQIRUPDVL�\DQJ�GLNLULPNDQ�PHODOXL�SDQFDUDQ�
WHUVHEXW�� GL� WHUPLQDO� HTXLSPHQW� WHUGDSDW� SKRWRGHWHFWRU \DQJ� DNDQ� PHPEDFD� GDQ�
PHQHUMHPDKNDQ�LQIRUPDVL�NHGDODP�EHQWXN�DVOLQ\D�

3HUDQFDQJDQ�SUR\HN�DNKLU�EHUIRNXV�SDGD�VLVL�UHFHLYHU�DWDX�WHUPLQDO�HTXLSPHQW GDQ�
SHUDQFDQJDQ� OLJKW�ILGHOLW\� �/L�)L�� EHUEDVLV� UDVSEHUU\� SL� GHQJDQ� SKRWRGHWHFWRU� DUUD\
VHEDJDL� UHFHLYHU \DQJ� WHODK� GLEXDW� GDSDW� PHQJLULPNDQ� GDQ� PHQHULPD� WHNV� \DQJ�
EHUMXPODK�PDNVLPDO����NDUDNWHU�DWDX��ELW�NDUDNWHU�
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